—_~
__01_

G




oh3 AADC = AABC©] ASA &-5°] 57|
Sloll B askA] 2 AL BF I2H?

D
A/\>C
B

® AC: 3% @b =18
® /BAC = /DAC @) 2aBC = 2ADC
® /BCA = /DCA

ACE 3%, /BAC = /DAC, /DCA = /BCA
kA AADC = AABC(ASAEF) °]th.




3. o2 1M AB//CD, AD//BC ©]1 AABD 2] & ©°]7} 25cm? &
o, ABCD 9] §o|& 3ozt

A D

i
o
=

\VARR 4
0x
iy

© 50 cm?

AABD = ACDB (ASA 3Hs)
. (DABCD 9] &9])= 25 x 2 = 50(cm?)




)

M
T
O
a9
N
T
o
o B
N H
ol T
o i
CRES
= P
&

4
al o|
oo
K )
ﬁ_uﬂ iy

C B
=)
Tz T
<R H
! KB T AT
©@

/SCB

d7%e

i

A

—_
[Ife]
E
o]
Gl
Tod
min
B .
oW
7 o
<A
A

©

=Ll
=

H, AABC7} T

5|

@ ®H24 BROFCS O] w= At

‘ ® AABC

ASA G

=
=




o

Tod

-

ul

A

e

ul

.

ul

.

ull




CE

X
oju
N
Ho

ol

(2) SSS &

ol




7]
60°

I o

17}
(50° + 70°
S




Gl

ol

-

ul

A

e

ul

ul

.

ull

4cm.




2 XOY ¢ 2717k 24 jEA A PR & °F
Z55kgS wl, AAOB = ACPD 98 K9l Zolt} (7h), (W), (T},
(2h ol gdute Aoz & 2ojx A9

O——1g P—

AAOB ¢} ACPD 9| A]

AAOB ¢} ACPD ©f|A]
OA =PC, OB=PD, AB=CD
.. AAOB = ACPD(SSS®%)




10. t& I9HoA AABC = ADEF©]7] §lafl 71 o2 d gt x40 =2

g AL

A D
B C E F
® AC =EF ® /B=/(F ® BC =DF
@ /,C=/D (@)A_C:ﬁ

AB =DE©°|1 /A = /D°|E&, /B=/E EX /C = /Fo]H
ASAE5o]1, AC = DFo|® SAS 50| Ht}.




11. o3& BPAPAF A AABC 2} aACDAZ} & A
TYE th2} Zo] st ( ) &
SIA AR A L.

B
H7]
AD//BC°|E&2 /BCA=( @)
AB//( © )RR ( ©® ) =/DCA
¥ (@ ) TeolBa2 Ao s (ASA 3F5) o
9]5}e] AABC = ACDA

it

iy

v Vv vvy v Vvy
0x
i

. @ /DAC
Hg ©CD
HE ' © BAC
FE: @AC

~&B

AD //BC °]|E& /BCA = /DAC
AB//CD°|E& /BAC = /DCA

T, HACE 350|E&8 47499 527 (ASA
5lo] AABC = ACDA




12, thg 279 Al A7) e Ao 2 A2

@ © ©

% \ [ | 7
l \_’,40111 '

@@E@ ASA &5, @=0 ASA T&
@ G=0 SAS &5, O=© SAS TF

® ©=© SSS A=, D=0 SAS &5
@ G=© SAS &%, O=0 SSS A%

©® @=0 ASA 5, % ©2 5ol oty

U‘.

l'L

O ©2 ASA FFE =1, SAS FE5 = Hr.
Q7 ©, OF ©2 ASA FFolt.




ol
S
ol

ol

o7} et

1

N

ol

@%

@ A %
2te] 217

72
2.

o

o]9}
T1 71912k A7)
717y &
&t

® g
st o] 7
dos} = 7o) 2
717y &
art.




C E

|

o]m 2 AABC

FE

(F, /C = (E°]1 BC

(B =
ADFE(ASA §%)




